SRR E A4 R A
B )R % 2

T pfE s BT g e 2 2R ERE A4 (or )(524)

4R 1, 140, 000 2/30, 000 2 4

PR IHE 2,193, 219 = /30, 000 = #g

FEAREIRE
(32 4e3-20%) 2, 631, 863 /30, 000 2w
ZEZ S rﬁ‘f»@ii‘—’f%fﬁ | ?_';g:

B MR
THRE  NTREZEAE (1K) BIE 2,391, 000 /30, 000 = »g
A H 8 (bRpo) L5
\ D o 5 o o " N AR s
A3 |ZExEFLEF P 2,826,000 1 2,826,000 1
A2 (mmPERFRES R 2,715,000 2 2,715,000 | 2
M o |[#L g g 2,610,000 3 2,610,000 | 3
Al [z@F 7% ans 2,490,000 4 2,490,000 | 4
B2 |BR¥HFT A 2,415,000 1 2,4150001 5
AR (- ) BREERERL Y - )R oWE G Rl g o

Mo R e () PR R SRR %iﬁaﬁ%é”ﬁ%%% éﬁﬁ
B X B REARTR (2) 2H4 ﬁﬂmmaﬂ¢lhmﬁapa-—ifr&
PR 2R AR E (T AL UE) AL g o HRARR o3
BOTRRGHR G PR L U R R R B D A BRI
é‘,liﬁ—jﬁf%; rﬁsfﬁ/j—*g“?%J o E] z;—ﬁ‘? Fﬂw{}"‘ir‘g;}—)\ﬁl ,% J?_,_é\.lﬂ IF; r&;§/L+§‘;%rJ o
() HARH 5> r&f'ﬁi#“}%?ﬁ ] —-!'z s R PR AR YRR B3 M
ERk SUE S P ﬁﬁ%%@*rﬁﬁﬁﬁﬁjﬁ’ﬁﬁﬁﬁﬂﬁgﬁﬁﬁiﬁg,g
BAMPEERERFRL 2 TR pRLAE s X R ARG D MR
A dEE R R F R bﬁ*ﬂ;‘g\'ﬁiﬁ;ujf f’EE‘fiL'ﬁﬁ o (1) 'igﬁ]:%;&—ﬁia £ 4L
BRpFEE INPHE P Ep S BH P RD R e LR - THL

Y




